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Private Sub Timer2 Tick(sender As Object, e As EventhArgs) If CheckBox?.Checked = True Then

Dim Data() As Byte If ComboBoxl.Text = "Slow" Then
ReDim Data(11l) Data(18) = 5@
CheckBox2.BackColor = Color.LimeGreen
If CheckBoxl1.Checked = True Then ElselIf ComboBoxl.Text = "Medium" Then
TextBox24.Enabled = True Data(1@) = 75
TextBox25.Enabled = True CheckBox2.BackColor = Color.LimeGreen
TextBox26.Enabled = True Else
TextBox27.Enabled = True Data(1@) = 125
Data(2) = Val(TextBox24.Text) CheckBox2.BackColor = Color.LimeGreen
Data(4) = Val(TextBox25.Text) End If
Data(6) = Val(TextBox26.Text) Else

CheckBox2.BackColor = Color.Red

Data(8) = Val(TextBox27.Text)

Else Data(18) = 8
TextBox24.Enabled = False End If
TextBox25.Enabled = False Data(e) = 200
TextBox26.Enabled = False Data(1) = 201
TextBox27.Enabled = False Data(3) = 202
Data(2) = servolpos + 90 Data(5) = 203
Data(4) = servo2pos + 990 Data(7) = 204
Data(6) = servo3pos + 90 Data(9) = 205
Data(8) = servodpos + 90 SerialPortl.Write(Data, 8, 11)

End If End Sub



wvold loop() if (wal < 200}

{
f (Serial.availsble() > 0) awitch (servoValue)
{
val = Serial.read():r cagse 1:
servolPoa = {int) wval:

if (val == 200) gervol.write{val);
i break;

read3ensora();
1 case 2:
if (val == 201) servo2Pos = (int) wvalr
I servold.write {val);

servoValue = 1; break:
1
if (wval == 202) case 3:
i servo3Pos = (int) wal;

gervoValue = 2; gervod.write (val);
1 break;
if (wval == 203)
I case 4:

servoValus = 3: gervodPos = (int) walr
1 servod.write {val)
if (wal == 204) break:
{

servoValue = 4; case 5
1 pspeed = val*Z;
if (wal == 205) analogWrite (Pump, papeed)
{ break;

servoValue = 5; default:

! break:

Serial.

Serial
Serial
Serial

Serial.
Serial.
Serial.
Serial.
Serial.
Serial.

Serial
Serial
Serial

Serial.
Serial.
Serial.

print (Temp)

.print (™ ")r
.print {pH, 2):

.print (" ")r
print (EC) :
print (" "):

print {{int)Lux);
print(™ ") r
print{servol.read())
print(™ ")

.print {servol.read()):

.printc(™ ") =»
.print {(servo3d.read());
Serial.

print{™ "} =r
print{servod.read()) s
print (™ ")
println{papeed):




Private Sub Timerl Tick(sender As Object, e As EventArgs)

Dim data As String

Dim servol, servo2, servo3, servod, pspeed As Double

If SerialPortl.BytesToRead() > @ Then
data = SerialPortl.ReadlLine()
temp = Val(data.Split(" "}(E}ﬂ
pH = Val(data.Split(" ")(1})
EC = Val(data.Split(" ")(2))
LUX = Val(data.Split(" ")(3))

servol
servol
servo3
servod
pspeed

Val(data.
Val(data.
Val(data.
Val(data.
Val(data.

split("
split("
split("
Split("
Split("

")(4))
")(5))
")(6))
")(7))
")(8))




meter ardumo error

498

2944 2950 -6

1136 1215 -79
1570 1600 -30
2030 2045 -15
2630 2620 10

SFEC Measurment

ECValue = analogRead(EC_PIN);

ECVoltage = ECValue * ref voltage / max adc reading;
EC = map(ECValue, 0, 1024, 0, 5000):

//end of EC Measurment



S /pH measurement
while (ipH <= pHLength)
{
pHArrav[ipH++] = analogRead{FH_PIN):
S f1if (ipH==pHLength) ipH=0;
pHVoltage = avergearray (pHarray, pHLength) * ref woltage / max adc reading;
pH = 3.5 * pHVoltage + OLLsetPH;
}
ipH = 0;
S/end of pH measurment



F/LUX Measurement
il¥ = 0; LuxTotal = 0O;
while (il¥X <= LELength)
{
LuxValue = anzlogRead(LDBE_FIN):
LuxTotal += LuxValue;
1LE++;
}
Luxivg = LuxTotal / LELength;
resistorVoltage = LuxBvg / max_adc reading * ref woltage;
ldrVoltage = ref woltage - reaistorVoltage:
ldrResistance = ldrVoltage / resistorVoltage * REF _RESISTARANCE:
Lux = (LUX_CALC SCALAR * pow(ldrResistance, LUX CALC EXPONENT)):
Fiend of LUE Measurment

LDR Error
124,51 -83,51
577 -425
2460 -1960
7400 -4200




. DS18B20

BN 255 28,76
30,87 31,06
37,3 37,75
40,1 40,3
50,3 50,6
Il 604 60,95
70,1 70,54
BN s04 80,97
N 02 90,56
100,3 100,7

S/ Temperature Measurement

aenacrlenp. requestTemperaturesByIndex (0] ¢

Temp = sensorTemp.getlenpCEByInd=x{0) ;

S/end of Temperature Measurment

0,26
0,19
0,45
0,2
0,3
0,55
0,44
0,57
0,36
0,4

0,91
0,62
1,21
0,50
0,60
0,91
0,63
0,71
0,40
0,40
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